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Candidates are required 1o give their answers in
their own words as far as possible.
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1. Qg 336ew S4wm L.CM. & :
(w) 215 (w) 225 ("M 3024
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The L.C.M. of two Integers 336 and 54 is :

(a) 215 ®) 225 (c) 3024
IR P(x)=6x? - Tx —3 & et @ voar § -
(%) O (m 2 m -1

The Number of Zeroes of the Polynomial
P(x)=6x*—-Tx-31is:

(a) O ®) 2 (c) -1

a
Wors wiwte g ot ;:"E‘I"'i & whe™ -
L
(%) Sy QEs (W) A% n ok ol

In Pair of lincar equation if —L'h"ﬂ'. Then

system of equation will have
(a) only one solution’ ,
(b) many solutions

(¢) none




Discriminant of the Quadratic equation
X2+ 4x+ 1 =0 will be

(a) 12 ® -12 (c) 16
5 AP31,-1,-3... w ad-sar (d) % :
(%) 3 (= 2 m -2

The common difference (d) of the
AP.3,1,-1.,-3....Is

() 3 (®) 2 (c) -2
6 9seA-9tan’AwvaTh:

=) 1 ) 9 M o

9 sec? A — 9 tan’ A is equal to

(a) 1 ®) 9 (c) O

7.  murite siw @ FqET P+ @)Y - ...

*®) @y (m) (5) ™m @y
e = - e e e e T




If Angle between two radii of a circle is 110°. The
Angle between the tangents at the ends of the radii
is :

(a) 90° (b) 80° (¢) 70°
9. Wws I Ry ¥ mr & 99 S@ 52 v W )
wite -
oh ot ... oA B (e, wabram)
Fill in the blank using correct word given in
bracket
All squares are ............. (Similar, Congruent)
10. R W AWEN :
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All questions carry 2 marks each.

11. 7429 W 39FY TTavE! § e $ w9 3 =@ 0
Express 7429 as a product of its Prime factors.

12. Ry AP s 6+ V2 o5 smftha demr B
Prove that 6 + +/2 is an Irrational Number.

13. ou Mo = dwew mo Ay Pred i B -
(_' 5! - I}i {3- —_— 5}- {5; 2}
Find the Areca of the triangle whose vertices are :

14. ot Rig (1,2),(4,y),(x, 6) M7 (3, 5) gt oy A A% 91
w T W @ vk @ @ x ol y W AP




2 3w o gv
All questions carry 2 marks each.

11. 7429 ¥ ¥9PY TrEYE $ TS $ w9 3§ s 50 )
Express 7429 as a product of its Prime factors.

12. fvx P M5 6+ 2 ow smftig dem B
Provethat 6 + /2 is an Irrational Number.

13. ow Py = dwesw W @G Pred ofd B -
(-5,-1)3,-5)(,2)
Find the Arca of the triangle whose vertices are :
(-5.-1)3.-5)(.2)

oft g (1, 2), (4, y). (x, 6) 3T (3, 5) 7ol woy A &R 9

14.
s Wt WY & A @ @ x o y ww A




15. Mo P i wet Ry @ vt Yan g ofter 7 o gw
% %% A fiwt o B

Prove that the perpendicular at the point of
contact to the tangent to a circle passes through the

centre. >

16. == wry afg -

cos 45°
sec 30° + cosec 30°
Evaluate :
cos 45°

sec 30® + cosec 30°

17. = Rw gon & fs 3 Ponfddl & ow e 1 @ 2 Rrafvda)
& opnfty on @t w7 9 A wivew 0.992 8 gl
o ofyem B e o 2 Mofddt = orsfes gu & ey
. R

It is given that in a group of 3 students, the




scC + COoscC

17. ue fem gon B My 3 Ao @ os v & 2 Rofda
& opefey g% @ s 5 9 @ mfvem 0.992 B gt
w aftem & fs go 2 Mol = oyt ow @ Rw
.y gttt i

It is given that in a p of 3 students, the
probability of 2 ltudclnu not having the same
birthday is 0.992. What is the probability that the 2
students have the same birthday 7
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All questions carry 3 marks each.

18. xX'-3x?+4x+5 | ¥+ 1 —x® W AP
Divide x* =3x*+4x+Sbyx*+ 1 -x.

19. Pr=y YWars adfistr gm & ordfilg Rfy @ s= &
xX+3y=6
2x -3y =12
Solve the following pair of linear equation
graphically :
X+3y=6
22X — 3y =12

20. Pr=r Yus afis™ gm @) s fy § 5o ST -
Ix+4y =10
2x -2y =2
Solve the following pair of lincar equation by

_________Dllalaatlion A4 - ]




20. Pr= Yus whwtr gm @ Ao At & e T -
Ix+4y =10
2x =2y =2
Solve the following pair of linear equation by
Elimination Method :
Ix+4y =10 »
2x -2y =2

A-902-C (92) [P.T.O.

21. <% Mg wges wo @ P eoel W 9 o




21. % feumy agex W @GP P el W @ o
e wn Q  dead B 1,1

Find a Quadratic Polynomial each with the given
numbers as the sum and puoduct of its zcros
respectively : 1,1

22. 8% waw 1S TRl W 9w AP
«—_ Find the sum of the first 15 multiples of 8.

23. o |ScotA~8 R & sin A MNT sec A ® wT WY
6oy

IT 15 cot A =8, find the value of sin A and sec A.
24. whefym Py AP -

l+sin A

=gsecA+tanA.

l-sin A
Pm‘ﬁldenthy:




Jl-l-linh
l-sin A

Prove the Identity :

=gsecA+tan A.

1+sin A
1-sin A =

A-995
~C (10)

sec A+tanA.

D A e

—————

25. x—W 9T a5 Py wwy AR o (2, - 5) MY (-2, 9)
@ g B

Find the Point on the x-axis which is equidistant




25.

26.

27.

X—N" 9T 7% farg wa Aiforg o (2, - 5) AT (-2,9)
® wugeem By

Find the Point on the x-axis which is equidistant
from (2, — 5) and (- 2, 9).

6 cm o & o 7o ofife 1 #% | 10 cm X o 0%
fig @ gu 9 wmdt T g A e A At A

stargat it

Draw a circle of radius 6 cm. From a point 10 cm
away from its centre, construct the pair of tangents
to the circle and measure their lengths.

sl wir % gerw qfde o =yw 80 cm B oft uw Wy
66 km afty 2 off wyw @ am @ B, W 10 Pz A o

ofsar P aemt oo B 7

The wheels of a car are of diameter 80 cm each.




27. Tl e & i ofgq = =@ 80 cm B oft 9w =T
66 km afy 42 o} et 4 = ©hl B, @ 10 fere & g@w
oftm fpad aesy e B 7

The wheels of a car are of diameter 80 cm cach.
How many complete revolutions does each wheel
make in 10 minutes when the car is travelling at a
speed of 66 km per hour 7

A-902-B (11) (PT.O.
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28. gl A, erifsy W w dwse o @, ot ¥
12cm @ % wg At OAB & ik O &
TST 6 cm foar wren ow gl W oty war By

12cm

Find the arca of the shaded region in figure, when
a circular arc of radius 6 cm has been drawn witl
vertex O of an equilateral triangle OAB of sid

12 cm as centre.
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29. % weR & gE Yw oW ¢ Pred ool 9t Pr=fafan
ST e B -

(a] ] & @] [E (A

9 TR @& % W SW www ¥ el v ofvem &
&3

(i) Asawn?

(ii) DoaAWN?

A child has a dic whose six faces show the lctters as
given below :

[A] €] (@ [(E @&

The die is thrown once. What is the Probability of
getling :
i A7

(i) D?




. el el T

30. st ennA 1Mz T oot AV I T, @ Py 1

Aomu@l BicRecR 1M 2, & as i—nmtu

= B ?




30, g py i A 1A T oy vy A A 1wz &, & Py

% wew o 81 aft 5T A 1 9N X, @ 7§ — wor oeh B

2
as Rt e B 7 .

If we add 1 to the Numerator and substract 1 fror
the denominator, a fraction reduces to 1. It become

%il‘wnnﬂd 1 to the denominator. What is th
fraction 7?7

31. 9 & 60 m @ Burf 9T o gein Iy A B getn A =
Brt o orvardt w9 & ity & aw Mg & s ey |
wi% & wra B8 W gwm 60° %) v AT s 0 A ¥
@i =ft B, NG @ st W By

A kite is Flying at a height of 60 m above the groun
The string attached to the kite is temporarily tied
a point on the ground. The inclination of the strir
with the ground is 60°. Find the length of the strin

assuming that there is no slack in the string.
-



A kite is Flying at a height of 60 m above the ground.
The string attached to the kite is temporarily tied to
a point on the ground. The inclination of the string
with the ground is 60°. Find the length of the string,
assuming that there is no slack in the string.

32. Movx for P ) et Pl & vl = oren vt
W noll $ orem & =t & wowT ovw By

A-902-B (14)
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Prove that the ratio of the areas of two similar

triangles is equal to the square of the ratio of their
corresponding sides.

o% vy & fo=re @ frds dary 4 cm § ow gwd g
frdl & oftarg (qffeaf) 18 cm ot 6 cm B | yu fors
s o5 T 4NN W B

The slant height of a frustum of a cone is 4 cm and
the Perimeters (circumference) of its circular ends
are 1 8 cm and 6 cm. Find the curved surface arca of
the frustum.

Prefafers offed, 225 frorh SwsToll & A oy s
(21 ) o g XA X

fgw Ew

(v=21 )
wrterem | 10 | 35 | 52 | 61 | 38

0-20 | 20-40 | 40-60 | 60-80 lﬂ-lﬂ#!lﬂ#—llﬂ‘

19]




the Perimeters (circumference) of its circular ends
are | 8 cm and 6 cm. Find the curved surface area of

34. Proffon s, 225 ol sostll @ e ey =
(R AgenW@dE:

%, T ‘
STSTN W W e . W AR, - T, o

o b

x\ i
Yo
A-902-B (15) % [P.T.O.
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The following data gives the Information on the
observed life times (in hours) of 225 electrical

Determine the modal life times of the
components.




